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estinterdite

dansle
coursde

m
athém

atiques!

II.3.b
)

P
rop

riétés

P
rop

riété

Soient
A

2
M

n
,p (R

),
B

2
M

p
,q (R

)
et

C
2

M
q
,r (R

).

Soient
D

2
M

n
,p (R

),
E

2
M

p
,q (R

).

Soit
�
2

R
.

A
lors

:

1)
A
⇥

(B
⇥

C
)

=
(A

⇥
B

)⇥
C

(pseudo
associativité

:
com

bien
d’opérateurs

en
jeu

?)

2)
(A

+
D

)⇥
B

=
A
⇥

B
+

D
⇥

B

(pseudo
distributivité

à
droite

:
com

bien
d’opérateurs

en
jeu

?)

3)
A
⇥

(B
+

E
)

=
A
⇥

B
+

A
⇥

E

(pseudo
distributivité

à
gauche

:
com

bien
d’opérateurs

en
jeu

?)

4)
A
⇥

I
p

=
I
n ⇥

A
=

A

(pseudo
élém

ent
neutre)

5)
A
⇥

(�
·B

)
=

(�
·
A

)⇥
B

=
�

·
(A

⇥
B

)
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at
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É
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it
u
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m
at

ri
ci

el
le

d
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n
sy

st
èm

e
li
n
éa

ir
e

D
éfi

n
it

io
n

So
it

(S
)

un
sy

st
èm

e
lin

éa
ir

e
de

n
éq

ua
ti

on
s

à
p

in
co

nn
ue

s
x

1
,.

..
,x

p
:

(S
)

8 > > > < > > > :

a
1
,1

x
1

+
a

1
,2

x
2

+
..

.
+

a
1
,p

x
p

=
b 1

L
1

a
2
,1

x
1

+
a

2
,2

x
2

+
..

.
+

a
2
,p

x
p

=
b 2

L
2

. . .
. . .

. . .
. . .

a
n
,1

x
1

+
a

n
,2

x
2

+
..

.
+

a
n
,p

x
p

=
b n

L
n

•
O

n
ap

pe
lle

m
at

ri
ce

as
so

ci
ée

au
sy

st
èm

e
lin

éa
ir

e
(S

),
la

m
at

ri
ce

:

A
S

=
(a

i,
j
)

1
6

i
6

n
1
6

j
6

p

•
Le

sy
st

èm
e

lin
éa

ir
e

(S
)

pe
ut

al
or

s
s’

éc
ri

re
so

us
la

fo
rm

e
:

A
S
⇥

X
=

B

⇥
X

=

0 B @
x

1 . . . x
p

1 C A
es

t
l’i

nc
on

nu
e.

⇥
B

=

0 B @
b 1 . . . b n

1 C A
es

t
le

se
co

nd
m

em
br

e.

•
R

és
ou

dr
e

(S
)
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es

t
ré

so
ud

re
ce

tt
e

éq
ua

ti
on

d’
in

co
nn

ue
X

.

R
em

ar
qu

e

•
Si

n
=

p
,l

a
m

at
ri

ce
A

S
as

so
ci

ée
au

sy
st

èm
e

(S
)

es
t

un
e

m
at

ri
ce

ca
rr

ée
.

•
Le

s
op

ér
at

io
ns

él
ém

en
ta

ir
es

su
r

le
s

lig
ne

s
d’

un
sy

st
èm

e
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ad
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se

nt
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r
la

m
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ce
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so
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ée

au
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st
èm
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⇥
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n
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⇥

B
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B
⇥

A

P
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A
=

✓
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0
1

�
1

◆
et

B
=

✓
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1
1

1

◆

E
n

eff
et

,o
n

a
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⇥
B

=

✓
1

1
0

0

◆
et

B
⇥

A
=

✓
2

�
1

2
�

1

◆

•
E

n
gé

né
ra

l,
(A

+
B

)2
=

(A
+

B
)
⇥

(A
+

B
)

=
A

2
+

2
·A

⇥
B

+
B

2

O
n

pe
ut

pr
en

dr
e

le
s

de
ux

m
at

ri
ce

s
pr

éc
éd

en
te

s.

E
n

eff
et

,o
n

a
:(

A
+

B
)2

=

✓
6

2
4

2

◆
et

A
2
+

2
·A

⇥
B

+
B

2
=

✓
5

4
2

3

◆

•
E

n
gé

né
ra

l,
A
⇥

B
=

0
)

A
=

0
ou

B
=

0

P
re

nd
re

A
=

✓
2

�
4

�
7

1
1 2

�
1

◆
et

B
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�
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�

2
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•
E

n
gé

né
ra

l,
A
⇥

B
=

A
⇥

C
)

B
=

C

P
re

nd
re

A
=

✓
2

�
4

�
7

1
1 2

�
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◆
et
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�
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�
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C
=
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T
h
éorèm

e
4.

Soient
A

,B
2

M
n
(R

).
Supposons

que
:
A
⇥

B
=

I
n .

A
lors

A
et

B
sont

inversibles
et

inverses
l’une

de
l’autre.

D
ém

onstration.
A

dm
is

en
prem

ière
année.

R
em

arqu
e

•
Soit

A
2

M
n
(R

).O
n

utilise
parfois

le
vocabulaire

suivant.
⇥

A
adm

et
une

inverse
à

gau
ch

e
si:9

B
1 2

M
n
(R

),
B

1
A

=
I
n .

⇥
A

adm
et

une
inverse

à
d
roite

si:9
B

2 2
M

n
(R

),
A

B
2

=
I
n .

•
P
ar

définition,
une

m
atrice

A
2

M
n
(R

)
est

inversible
s’il

existe
B

2
M

n
(R

)
quiest

à
la

fois
inverse

à
gauche

de
A

et
inverse

à
droite

de
A

.
•

Le
T

héorèm
e

4
signifie

que
si

B
est

l’inverse
à

gauche
de

A
,alors

B
est

l’inverse
de

A
.

T
h
éorèm

e
5.

Soit
A

2
M

n
(R

)
et

soit
m

2
N

.
Soit

P
2

M
n
(R

)
une

m
atrice

inversible.

1)
(P

�
1⇥

A
⇥

P
)
m

=
P

�
1⇥

A
m
⇥

P

2)
(P

⇥
A
⇥

P
�

1)
m

=
P

⇥
A

m
⇥

P
�

1

D
ém

onstration.
O

n
dém

ontre
par

récurrence
que

les
propriétés

1)
et

2)
sont

vérifiées
pour

tout
m

2
N

.L’idée
derrière

l’étape
d’hérédité

est
que

:

(P
�

1⇥
A
⇥

P
)
m

+
1

=
(P

�
1⇥

A
⇥

P
)⇥

(P
�

1⇥
A
⇥

P
)
m

=
(P

�
1⇥

A
⇥

P
)⇥

(P
�

1⇥
A

m
⇥

P
)

=
P

�
1⇥

A
⇥

(P
⇥

P
�

1)⇥
A

m
⇥

P
=

P
�

1⇥
A
⇥

A
m
⇥

P
=

P
�

1⇥
A

m
+

1⇥
P
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E
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E
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II.3.c)
L
e

cas
p
articu

lier
d
es

m
atrices

carrées

(i)
L
’op

érateu
r
⇥

est
intern

e
(d

an
s

M
n
(R

))

Lorsque
l’on

considère
des

m
atrices

carrées
(n

=
p),

l’ensem
ble

des
pro-

priétés
énoncées

précédem
m

ent
reste

évidem
m

ent
valable.

O
n

peut
de

plus
citer

une
particularité

liée
à

ce
cas.E

n
effet,l’opérateur⇥

est
alors

intern
e

(dans
M

n
(R

))
:

8
A

,B
2

M
n
(R

),
A
⇥

B
2

M
n
(R

)

(partant
de

deux
élém

ents
dans

A
,

B
dans

M
n
(R

),
A

⇥
B

reste
dans

M
n
(R

))
G

râce
à

cette
particularité,les

pseudo-caractéristiques
énoncées

dans
les

propriétés
précédentes

deviennent
des

caractéristiques.

P
rop

riété

Soient
A

,B
,C

,D
,E

des
m

atrices
de

M
n
(R

).

Soit
�
2

R
.

A
lors

:

1)
A
⇥

(B
⇥

C
)

=
(A

⇥
B

)⇥
C

(l’opérateur⇥
est

associatif)

2)
(A

+
D

)⇥
B

=
A
⇥

B
+

D
⇥

B

(l’opérateur⇥
est

distributif
à

droite
par

rapport
à

l’opérateur
+

)

3)
A
⇥

(B
+

E
)

=
A
⇥

B
+

A
⇥

E

(l’opérateur⇥
est

distributif
à

gauche
par

rapport
à

l’opérateur
+

)

4)
A
⇥

I
n

=
I
n ⇥

A
=

A

(I
n

est
l’élém

ent
neutre

pour
l’opérateur⇥

)

5)
A
⇥

(�
·B

)
=

(�
·
A

)⇥
B

=
�

·
(A

⇥
B

)

10



E
C

E
1-

B
20

15
-2

01
6

T
h
éo

rè
m

e
3.

So
ie

nt
A

,
B

et
P

de
s

m
at

ri
ce

s
in

ve
rs

ib
le

s
de

M
n
(R

).

1)
A

�
1

es
t
in

ve
rs

ib
le
.
D

e
pl

us
:

(A
�

1
)�

1
=

A

2)
t A

es
t
in

ve
rs

ib
le
.
D

e
pl

us
:

(
t A

)�
1

=
t (

A
�

1
)

3)
A
⇥

B
es

t
in

ve
rs

ib
le
.
D

e
pl

us
:

(A
⇥

B
)�

1
=

B
�

1
⇥

A
�

1

4)
So

it
m

2
N

.
A

m
es

t
in

ve
rs

ib
le
.
D

e
pl

us
:

(A
m

)�
1

=
(A

�
1
)m

5)
P

�
1
A

P
es

t
in

ve
rs

ib
le
.
D

e
pl

us
:

(P
�

1
A

P
)�

1
=

P
�

1
A

�
1
P

D
ém

on
st

ra
ti
on

.

1)
P
ar

dé
fin

it
io

n,
A
⇥

A
�

1
=

A
�

1
⇥

A
=

I n
.

2)
t (

A
⇥

A
�

1
)

=
t (

A
�

1
)
⇥

t A
=

t I
n

=
I n

et
t (

A
�

1
⇥

A
)

=
t A

⇥
t (

A
�

1
)

=
t I

n
=

I n
.

3)
(A

⇥
B

)
⇥

(B
�

1
⇥

A
�

1
)

=
(B

�
1
⇥

A
�

1
)
⇥

(A
⇥

B
)

=
I n

.

4)
A
⇥

..
.
⇥

A
⇥

A
�

1
⇥

..
.A

�
1

=
A

�
1
⇥

..
.A

�
1
⇥

A
⇥

..
.
⇥

A
=

I n
.

P
ro

p
ri

ét
é

de
si

m
pl

ifi
ca

ti
on

So
ie

nt
A

,B
,C

da
ns

M
n
(R

).

1)
Si

A
⇥

C
=

B
⇥

C
et

C
in

ve
rs

ib
le

,a
lo

rs
A

=
B

.

2)
Si

C
⇥

A
=

C
⇥

B
et

C
in

ve
rs

ib
le

,a
lo

rs
A

=
B

.

3)
Si

A
6=

0,
B

6=
0

et
A
⇥

B
=

0
al

or
s

A
et

B
ne

so
nt

pa
s

in
ve

rs
ib

le
s.

4)
So

ie
nt

A
2

M
n
(R

),
X

2
M

n
,1
(R

),
B

2
M

n
,1
(R

)
av

ec
A

in
ve

rs
ib

le
.

L’
éq

ua
ti

on
A

X
=

B
ad

m
et

al
or

s
un

e
un

iq
ue

so
lu

ti
on

X
=

A
�

1
⇥

B
.

D
ém

on
st

ra
ti
on

.
Il

su
ffi

t
de

m
ul

ti
pl

ie
r
de

pa
rt

et
d’

au
tr

es
de

l’é
ga

lit
é

pa
r
la

m
at

ri
ce

in
ve

rs
e. 18
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(i
i)

M
at

ri
ce

s
tr

ia
n
gu

la
ir

es
et

p
ro

d
u
it

D
éfi

n
it

io
n

So
it

A
2

M
n
(R

)
un

e
m

at
ri

ce
ca

rr
ée

.

O
n

di
t

qu
e

la
m

at
ri

ce
A

es
t

:

•
tr

ia
n
gu

la
ir

e
su

p
ér

ie
u
re

si
8i

,j
2

J1
,n

K2
,

(i
>

j
)

a
i,
j

=
0
)

•
tr

ia
n
gu

la
ir

e
in

fé
ri

eu
re

si
8i

,j
2

J1
,n

K2
,

(i
<

j
)

a
i,
j

=
0)

•
d
ia

go
n
al

e
si

8i
,j

2
J1

,n
K2

,
(i

6=
j

)
a

i,
j

=
0
)

A
in

si
,c

es
m

at
ri

ce
s

po
ur

ro
nt

se
pr

és
en

te
r

de
la

m
an

iè
re

su
iv

an
te

:
0 B B B B @

�
1

⇤
..

.
⇤

0
�

2
. .

.
. . .

. . .
. .

.
. .

.
⇤

0
..

.
0

�
n
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�
1

0
..

.
0

⇤
�

2
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.
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.
0

⇤
..

.
⇤

�
n
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�
1

0
..

.
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0
�

2
. .

.
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. .

.
. .

.
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0
..

.
0

�
n

1 C C C C A

T
ri
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la
ir

es
T
ri

an
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la
ir

es
D

ia
go
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le

s
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pé
ri

eu
re

s
in

fé
ri

eu
re

s

où
⇤

es
t

ut
ili

sé
po

ur
re

pr
és

en
te

r
de

s
cœ

ffi
ci

en
ts

qu
el

co
nq

ue
s

-
pa

s
fo

rc
é-

m
en

t
le

m
êm

e!
-(

év
en

tu
el

le
m

en
t

nu
l)

et
�

i
2

R
es

t
ut

ili
sé

po
ur

re
pr

és
en

-
te

r
un

cœ
ffi

ci
en

t
di

ag
on

al
(é

ve
nt

ue
lle

m
en

t
nu

l)
.

R
em

ar
qu

e

•
Le

s
m

at
ri

ce
s

di
ag

on
al

es
so

nt
à

la
fo

is
tr

ia
ng

ul
ai

re
su

pé
ri

eu
re

et
tr

ia
ng

u-
la

ir
e

in
fé

ri
eu

re
(i

nv
er

se
m

en
t,

si
un

e
m

at
ri

ce
es

t
tr

ia
ng

ul
ai

re
su

pé
ri

eu
re

et
in

fé
ri

eu
re

al
or

s
el

le
es

t
di

ag
on

al
e)

.

•
La

m
at

ri
ce

nu
lle

0
es

t
di

ag
on

al
e.

•
Le

s
m

at
ri

ce
s

I n
et

�
I n

so
nt

di
ag

on
al

es
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III.
L
es

m
atrices

inversibles

D
éfi

n
ition

Soit
A

2
M

n
(R

).

•
A

est
dite

inversib
le

sielle
adm

et
un

inverse
i.e.s’ilexiste

B
2

M
n
(R

)
telle

que
:

A
⇥

B
=

B
⇥

A
=

I
n

•
Sielle

existe,la
m

atrice
B

ainsidéfinie
est

unique.
E

lle
est

appelée
inverse

d
e

A
et

est
notée

A
�

1.
•

O
n

notera
G

L
n
(R

)
l’ensem

ble
des

m
atrices

inversibles
de

M
n
(R

).

�
Seules

les
m

atrices
carrées

peuvent
être

inversibles.

R
em

arqu
e

M
êm

e
sile

lien
entre

applications
et

m
atrices

n’est
pas

l’objet
de

ce
cours,

ily
a

toutlieu
de

rem
arquerl’analogie

entre
la

définition
de

l’inverse
d’une

m
atrice

et
celle

de
réciproque

d’une
application.

A
⇥

B
=

I
n

$
$
$

$

f
�

g
=

id
F

et
B

⇥
A

=
I
n

$
$
$

$

g
�

f
=

id
E

E
xem

p
le

•
La

m
atrice

identité
est

inversible
d’inverse

elle-m
êm

e
:
I
n ⇥

I
n

=
I
n .

•
Les

m
atrices

diagonales
dont

les
cœ

ffi
cients

diagonaux
sont

tous
non

nuls
sont

inversibles.E
n

effet
:

0BBBB@

�
1

0
...

0

0
�

2
...

...
...

...
...

0
0

...
0

�
n

1CCCCA
⇥

0BBBB@

1�
1

0
...

0

0
1�
2

...
...

...
...

...
0

0
...

0
1�
n

1CCCCA
=

0BBBB@

1
0

...
0

0
1

...
...

...
...

...
0

0
...

0
1

1CCCCA

et
le

produit
com

m
uté

est
aussiégalà

la
m

atrice
identité.

•
Les

m
atrices

triangulaires
(supérieures

et
inférieures)

à
cœ

ffi
cients

dia-
gonaux

tous
non

nuls
sont

inversibles
(voir

plus
loin).
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E
xem

p
le

•
Les

m
atrices ✓

1
3

0
�

1

◆
et ✓

0
3

0
�

1

◆
sont

triangulaires
supérieures.

•
Les

m
atrices ✓

�
2

0
7

3

◆
et ✓

�
2

0
7

0

◆
sont

triangulaires
inférieures.

•
Les

m
atrices

✓
2

0
0

5

◆
et

✓
0

0
0

5

◆
sont

diagonales
/

triangulaires

supérieures
/

triangulaires
inférieures.

•
Les

m
atrices ✓

�
9

8
4

7

◆
et ✓

0
8

4
0

◆
ne

sont
nidiagonale,nitriangu-

laire
supérieure,nitriangulaire

inférieure.

T
h
éorèm

e
1.

•
Le

produit
de

deux
m

atrices
triangulaires

supérieures
(resp.inférieures)

est
une

m
atrice

triangulaires
supérieures

(resp.
inférieures).

•
Le

produit
de

deux
m

atrices
diagonales

est
une

m
atrice

diagonale.

D
ém

onstration.
0BBBB@

�
1

⇤
...

⇤
0

�
2

...
...

...
...

...
⇤

0
...

0
�

n

1CCCCA
⇥

0BBBB@

�
1

⇤
...

⇤
0

�
2

...
...

...
...

...
⇤

0
...

0
�

n

1CCCCA
=

0BBBB@

�
1 �

1
⇤

...
⇤

0
�

2 �
2

...
...

...
...

...
⇤

0
...

0
�

n
�

n

1CCCCA

0BBBB@

�
1

0
...

0

⇤
�

2
...

...
...

...
...

0
⇤

...
⇤

�
n

1CCCCA
⇥

0BBBB@

�
1

0
...

0

⇤
�

2
...

...
...

...
...

0
⇤

...
⇤

�
n

1CCCCA
=

0BBBB@

�
1 �

1
0

...
0

⇤
�

2 �
2

...
...

...
...

...
0

⇤
...

⇤
�

n
�

n

1CCCCA

0BBBB@

�
1

0
...

0

0
�

2
...

...
...

...
...

0
0

...
0

�
n

1CCCCA
⇥

0BBBB@

�
1

0
...

0

0
�

2
...

...
...

...
...

0
0

...
0

�
n

1CCCCA
=

0BBBB@

�
1 �

1
0

...
0

0
�

2 �
2

...
...

...
...

...
0

0
...

0
�

n
�

n

1CCCCA
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E
C

E
1-

B
20

15
-2

01
6

D
éfi

n
it

io
n

So
it

A
2

M
n
(R

).

•
O

n
di

ra
qu

e
la

m
at

ri
ce

A
es

t
sy

m
ét

ri
qu

e
si

el
le

co
ïn

ci
de

av
ec

sa
tr

an
s-

po
sé

e,
i.e

.
si

t A
=

A
.

•
A

ut
re

m
en

t
di

t
:

A
es

t
sy

m
ét

ri
qu

e
,

8i
2

J1
,n

K,
8j

2
J1

,n
K,

a
i,
j

=
a

j,
i

R
em

ar
qu

e

•
Le

s
se

ul
es

m
at

ri
ce

s
à

la
fo

is
tr

ia
ng

ul
ai

re
s

su
pé

ri
eu

re
s

(r
es

p.
in

fé
ri

eu
re

s)
et

sy
m

ét
ri

qu
es

so
nt

le
s

m
at

ri
ce

s
di

ag
on

al
es

.

•
Se

ul
es

le
s

m
at

ri
ce

s
ca

rr
ée

s
pe

uv
en

t
êt

re
sy

m
ét

ri
qu

es
.

�
Si

A
2

M
n
,p
(R

),
sa

tr
an

sp
os

ée
t A

es
t

da
ns

M
p
,n

(R
).

A
in

si
,

l’é
ga

lit
é

A
=

t A
n’

es
t

po
ss

ib
le

qu
e

si
n

=
p
.

A
ut

re
m

en
t

di
t,

le
s

se
ul

es
m

at
ri

ce
s

po
uv

an
t

êt
re

sy
m

ét
ri

qu
es

so
nt

le
s

m
at

ri
ce

s
ca

rr
ée

s.

E
xe

m
p
le

•
Le

s
m

at
ri

ce
s

su
iv

an
te

s
so

nt
sy

m
ét

ri
qu

es
.

0 @
1

�
1

2
�

1
5

4
2

4
3

1 A
0 @

1
0

0
0

5
0

0
0

3

1 A
0 @

1
0

0
0

1
0

0
0

1

1 A

•
La

m
at

ri
ce

0 @
1

�
1

�
1

5
2

4

1 A
n’

es
t

pa
s

sy
m

ét
ri

qu
e.
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(i
ii
)

P
u
is

sa
n
ce

m
èm

e
d
’u

n
e

m
at

ri
ce

ca
rr

ée

D
éfi

n
it

io
n

So
it

A
2

M
n
(R

)
un

e
m

at
ri

ce
ca

rr
ée

et
so

it
m

2
N

.

•
La

pu
is

sa
nc

e
m

èm
e

de
A

,e
st

la
m

at
ri

ce
:A

m
=

A
⇥

..
.
⇥

A
|

{z
}

m
fo

is

.

•
D

e
m

an
iè

re
ri

go
ur

eu
se

,l
es

pu
is

sa
nc

es
de

A
so

nt
dé

fin
ie

s
pa

r
la

re
la

ti
on

de
ré

cu
rr

en
ce

:
⇢

A
0

=
I n

8m
2

N
,

A
m

+
1

=
A
⇥

A
m

R
em

ar
qu

e
•

P
ar

co
nv

en
ti

on
:(

0 M
n
(R

))
0

=
I n

.
•

Si
m

6=
0,

0
m

=
0

et
(I

n
)m

=
I n

et
(�

I n
)m

=
�

m
I n

•
D

e
pa

r
le

s
pr

op
ri

ét
és

pr
éc

éd
en

te
s

su
r

le
s

m
at

ri
ce

s
tr

ia
ng

ul
ai

re
s,

on
a

:
0 B B B B @

�
1

⇤
..

.
⇤

0
�

2
. .

.
. . .

. . .
. .

.
. .

.
⇤

0
..

.
0

�
n

1 C C C C A

m

=

0 B B B B @

�
m 1

⇤
..

.
⇤

0
�

m 2
. .

.
. . .

. . .
. .

.
. .

.
⇤

0
..

.
0

�
m n

1 C C C C A

0 B B B B @

�
1

0
..

.
0

⇤
�

2
. .

.
. . .

. . .
. .

.
. .

.
0

⇤
..

.
⇤

�
n

1 C C C C A

m

=

0 B B B B @

�
m 1

0
..

.
0

⇤
�

m 2
. .

.
. . .

. . .
. .

.
. .

.
0

⇤
..

.
⇤

�
m n

1 C C C C A

0 B B B B @

�
1

0
..

.
0

0
�

2
. .

.
. . .

. . .
. .

.
. .

.
0

0
..

.
0

�
n

1 C C C C A

m

=

0 B B B B @

�
m 1

0
..

.
0

0
�

m 2
. .

.
. . .

. . .
. .

.
. .

.
0

0
..

.
0

�
m n

1 C C C C A

�
Si

A
et

B
so

nt
de

ux
m

at
ri

ce
s
de

M
n
(R

),
le

pr
od

ui
t
⇥

n’
ét

an
t
pa

s
co

m
m

ut
at

if,
il

fa
ut

fa
ir

e
at

te
nt

io
n

à
l’é

lé
va

ti
on

à
la

pu
is

sa
nc

e
m

:

(A
⇥

B
)m

=
(A

⇥
B

)
⇥

··
·⇥

(A
⇥

B
)

=
A

m
⇥

B
m
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P
rop

riété
Soient

A
et

B
deux

m
atrices

de
M

n
,p (R

)
et

soit
�
2

R
.

Soient
C

2
M

n
,p (R

)
et

D
2

M
p
,q (R

).

1)
t(A

+
B

)
=

tA
+

tB
2)

t(�
·
A

)
=

�
·

tA

(linéarité
de

l’application
de

transposition)

3)
t(

tA
)

=
A

(idem
potence

de
l’application

de
transposition)

4)
t(C

⇥
D

)
=

tD
⇥

tC

D
ém

onstration.
4)

N
otons

a 0i,j
(resp.

b 0i,j )
le

cœ
ffi

cient
à

la
i èm

e
ligne

et
j
èm

e
colonne

de
tA

(resp.
tB

).A
utrem

ent
dit

:
a 0i,j

=
a

j,i
et

b 0i,j
=

b
j,i .

N
otons

m
aintenant

C
=

A
⇥

B
et

C
0
=

tB
⇥

tA
.O

n
a

alors
:

c 0i,j
=

pPk
=

1

b 0i,k
a 0k

,j
=

pPk
=

1

b
k
,i

a
j,k

=
pPk
=

1

a
j,k

b
k
,i

=
c
j,i etdonc

C
0
=

tC
.

P
rop

osition
1.

L’application
t.

:
M

n
,p (R

)
!

M
p
,n

(R
)

A
7!

tA
est

bijective.

D
ém

onstration.
C

aractère
surjectif :toute

m
atrice

M
2

M
p
,n

(R
)
apparaît

com
m

e
l’im

age
par

la
fonction

transposée
d’une

m
atrice

de
M

n
,p (R

).
E

n
effet,

M
=

t(
tM

)
et

tM
2

M
n
,p (R

).
C

aractère
injectif:soient

M
et

P
dans

M
n
,p (R

)
telles

que
tM

=
tP

.Si
on

note
m

0i,j
les

cœ
ffi

cients
de

tM
(et

p 0i,j
ceux

de
tP

)
alors

on
a

:

8
i2

J1
,pK,8

j2
J1,nK,

m
0i,j

=
p 0i,j

q
q

m
j,i

p
j,i

ce
quirevient

à
dire

que
M

=
P

.
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T
h
éorèm

e
2.

Soient
A

et
B

deux
m

atrices
de

M
n
(R

)
et

soit
m

2
N

.
Supposons

de
plus

que
A

et
B

com
m

utent
:
A

B
=

B
A

.
A

lors
:

(A
+

B
)
m

=
mPk
=

0 ✓
mk ◆

A
k⇥

B
m
�

k

D
ém

onstration.
La

dém
onstration

est
la

m
êm

e
que

pour
la

form
ule

du
binôm

e
de

N
ew

ton
arithm

étique.Ilsuffi
t

de
procéder

par
récurrence.

R
em

arqu
e

P
ar

la
suite,

on
om

ettra
souvent

l’opérateur
«
⇥

».
O

n
notera

alors
A

B
au

lieu
de

A
⇥

B
.

II.4.
T
ran

sp
osée

d
’u

n
e

m
atrice

D
éfi

n
ition

Soit
A

2
M

n
,p (R

).

•
O

n
appelle

tran
sp

osée
d
e

A
,
et

on
note

tA
,
la

m
atrice

de
M

p
,n

(R
)

définie
par

:
tA

=
(a

j,i )
1
6

i6
n

1
6

j
6

p

•
L’opération

de
transposition

consiste
à

échanger
les

lignes
et

les
co-

lonnes
d’une

m
atrice.

E
xem

p
le

t ✓
2

0
�

7
1

3
�

1

◆
=

0@
2

1
0

3
�

7
�

1

1A
t 0@

1
0

1
1

�
1

0
1

0
1

1A
=

0@
1

1
1

0
�

1
0

1
0

1

1A

t�
0

�
1

3
�

=

0@
0

�
13

1A
et

t 0@
0

�
13

1A
=

�
0

�
1

3
�
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